BILH RPN FIE

112.12.15{ #7

F = it ¢4 xS
1 [Ex Ak HLI(EE 3 R G REL RAFOP &%)
2 |E A ARH2(ME 3R Gdq KEC KA FI0P @& %)
3 |E A ARHI(MEEFRE Gq KEFAFILP &%)
4 |E A AEHA(FL 3 RE - Bd RE A 5120 & %)
S |FEFFAHA Y IR P
6 |FEFFAHA Y QY TP
7T | BEFRAHA B Ok RFIP IR
8 |FEFFAHA ¥ IHRHURFLL TP
9 |FEFFHAZKA(LE FH)

10 [REFRAAFA(FFFA)
11 REFRAHAY F(LF #5)
12 | REFRAAY F(3FFH4)
13 |REFEHA KL
14 |4=# &1

15 [+ #=22

16 |4~ ¢ #<+3

17 =¥ #=24

18 [4=¢ #<5

19 [4=# #£<6

20 |4 ¢ E~ xH 4501
21 |4 @ 2 HH 4512
22 |4 P E2 ;e H 45313
23 |4 ¢ E2 mH 4314
24 |4 P E> HH 45315
25 |4¢ E2 HH 45316
26 |¥ A1

27 |¥ 23§ A2

28 |¥ < 43

29 |¥ <3 #4

30 |¥ %3 A5

31 |¥ <3 46

32 |¢ 2 AuE4s511
33 [P 2 AHE 4312
34 |¥ 2 AuH4513
35 | 2 AxH494
36 |7 > AxH415
37 |¥ 2 A uH4316
38 |37 &1

39 (3¢ E2

40 [ ® £+3

41 |37 E=4

42 |%® £=5

43 |3 ¢ £<6
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7 =& H LA =S
44 |B @ E2 xE 4501

45 B¢ E2 HE 1512

46 |B @ E2> HE4513

47 |3 @ E2 x84 54

48 |3 ¢ £~ %5455

49 |3 ¢ =< 1H 3516

50 || 288 %31

51 |1 2% 232

52 |% %2 #H

53 [Pz #31

54 |- 8 #252

55 |¥ * ¢ 2 o7

56 |¥ & EF

57 |st ¢l

58 |\ ¢ w2

59 |- F3@mEFY B OR(E [{HRBK)

60 |- *F FMEFY FI19 2K YEAE e
6l |- FFmEZY 5319 2 K(f I T HEK) * L e
62 |- F WM EEY 2R YEAE e
63 |- FFREFC ALK rEAEER
64 |- FFEEFY AL R(H I FHEBR) rE2Eed
65 |- F 3 EETY DR 2 R(D [ HBK)

66 |- FFHEFY 22K

67 |7 FFHEFFTY B2 K (I B HEK)

68 |7 A EwmEEY F 2K T L e
69 |7 pEwmEEY 22K T L e
70 |7 RFHREFY LTS *EAEEW
71 |I A3 EFY LK

72 |TI F3HEEFY PR AL R
B |TEFHREF? G R "R EEY
74 | FREEFY AR

S |TRFREFY YR *EAEEY
6 |TRFEEF° AR w

77 |EEF RIS wﬁd¢L@ﬁ%%n

718 |ZEEFRATHEZT AT HHRBK)2

79 %&g%%ﬁga%$@@%%%ﬁ

80 | R EITHIET A (D U R R4

81 |3 % KA ﬁ%%%@@ﬁ%%ﬁ

82 |EEF RATHEFZHRAM(L HHRK)

83 [ZEEF AT EF A (E § HRR)T

84 [ZEEF RATHREF kA (L ) $HRR)8

85 |[EEF wITHhEZ (T HRR)I

86 | R EATHET A (S i 1R R)10
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7 =% Kt LA g3
87 |EER AT REFFA AW H{HER)IL

88 |3Ef AT EE A (D 1 HAER)12

89 %&?%%%Eﬂiwvﬁcj\%& 4 I't‘;%_fﬁ /E':( F -ﬁ'%ﬁﬂ)l
90 [ FwRAThEFRAF S FERY E(D § HER)2
01 [Ef R wmiThEF k4 d 4 FERY &(0 § #HE5)3
92 |EEREITHEFTF AL TERY E(@ HHRK)NM
93 [T RATHEFRAF S FERY E(5 § HE K5
94 %&?%%%Eﬂiwvﬁcj\%& 4 'F})l}'-iﬁ /E':( F Iﬂ'%ﬁﬂ)e‘)
95 [ RATREFRAF S FERY E(D § HER)T
96 %&?%%%Eﬂiwvﬁcj\%& 4 'F})l}'-iﬁ /E':( F -ﬁ'%ﬁﬂ)8
97 |EERHRATHETF AT L FERY (@ HEBE)I
98 |EEFRATHEFFAET L TERY B (2§ #HRR)I10
9 |EEFRITHEFFAT S TERY H( §HRR)IL
100 |sEF wAThEFHHAF L FERY B (D § HERK)12
101 |ZEEF RATREF FA R P L

102 |ZEFRATHEF FARIFEP 2

103 |ZEEFRATHEF FAKIFEP 3

104 |ZEEF RATREF FAFITLP A

105 |ZEEF RATIHEF AR P S

106 |ZEFRATHEF FAKIFEP 6

107 |ZEEFRATHEF FAREFEPT

108 |ZEEFRATHEF FAKIFEP 8

109 |ZEEFRATHEF FAKIFEP 9

110 |ZE g wAThEF A FEF P 10

111 |28 f RATRES Sk Jfr £ 2 11

112 |2ef f RATRE S b T £ P 12

113 [#£=2 (4 FR)% A1

114 |2 (3 R A2

115 | &~ (3 W%)% 43

116 |+ (% B%)ik 4

117 %< (3 FR)k+5

118 |£+ (3 F%R)ik+6

119 &=~ (3 WR)FAT

120 |#~ (3 Ww»)%48

121 |~ (3 Fw)3%49

122 |#> (3 Fw»)3% 410

123 |#~ (3 WwR)%+11

124 |#~ (3 Ww=)FH+12

125 (&= (3 AR ¥ ¥l

126 |~ (3 FE)Y £2

127 | (3 By 73

128 &= (3 &)Y 174

129 (&= (3 R ¥ 1¥5




FHLR € KHBRFE
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3 =% it L4 %3t
130 [#=+ (2 W)Y 76

131 |2~ (2 MRy (€7

132 2= (2 W)Y 178

133 [£+ (2 W)Y 79

134 |#=2 (2 )Y (710

135 |#£=2 (% B (711

136 |#£=2 (% By (F12

137 |Z=2 (F R)KREFEP 1

138 | &= (3 W) REFE P2

139 |#= (% F)KfFEp 3

140 |#= (% R KEF L P 4

141 |E=2 (F RR)KEFE P 5

142 |£=2 (3 FA)KFFEP 6

143 |E2 (F W) KREFLPT

144 |E=2 (3 FR)REFL P8

145 |E=2 (F RR)KREFLP O

146 |E=2 (3 FR)REF £ 10

147 |2 G RR)REFEp 11

148 |£= (3 RE)HEF £ p 12

149 (B &z mdkd » PP ALY B8R)
150 (¥ #=F e w4 kd » PP B(LF %ﬁ B AR
151 |BETZw w4 %A »PP AGEEH S K)
152 | &z w4 kc » PP BGEZEH T %)
153 (B E2Z o w4 23k~ AAP A

154 (B £ 55w 4 2%k~ A#P B

155 |8 #2325 w 4 3k~ 1A

156 |8 #:2 % v 4 3k~ 1B

157 |8 #32% w 4 3k A 2A

158 |¥ &2 % o 4 3k~ 2B

159 |8 #:2 % o 4 3k A3A

160 |% #:2 % w 4 3k~ 3B

161 |% #:22 % o 4 3k ~4A

162 |§ #Z » w4 k44B

163 |§ #3Z » » 4_#k A 5A

164 |§ #Z » w 4_k4A5B

165 |§ #3Z » » 4_#k 4 6A

166 |§ #:iZ » v 4 k4 6B

167 | &% » v 4 kA TA

168 |§ #Z» w4 kA 7B

169 |¥ &% » v 4 k4 8A

170 | #Z » w4 %4 8B

171 | B &3 » v 4 k4 9A

172 | B #FZ » v 4 %4 9B
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7 & H LA LRES
173 |8 &3 » » 4_3%k » 10A

174 |8 &2 » » 4_3%» 10B

175 | #Zwn 4 F¥£ A » PP A(LF F50KR)

176 | &#Z w4 ¥4 »Pp B(Lg #5K)

177 [# &0 A TEh » PP AT EHS %)

178 [# &350 4 t%h ~ PP B(EEHE %)

179 |83 w4 v £ 4 Adtp A

180 [B &z o w4 irE+ AP B

181 (B #Z v 4 (FE A1A

182 (B #iZw w4 (T A1B

183 (& #F w w 41T % X 2A

184 (& £ v 4 (T A2B

185 (& #F w w 4_1T % A3A

186 (& £ v 4 (% A3B

187 (& #F w v 4_1T % X 4A

188 (& £z v 4_(T% A4B

189 (& #iF » o 4_1T % A5A

190 (& #3Z w» v 4_(T% A5B

191 (& #3F » o 41T % X6A

192 (B #3Zw v 4 (% A6B

193 (B #F v 4_(FE ATA

194 (&3 »w4 (v¥+7B

195 |& %33 % % 4 17 % A8A

196 |B &= w w4 7% A8B

197 |8 #3335 417 % A9A

198 |B &= w w 4_1T% A0B

199 |8 &= v w 4 1T % A10A

200 |& £z % % 4 % ~10B

201 |k | ®EmaAl AT A FHH
202 |k | BEZivE AL DRTR A - F R
203 |k | B #Em A2 PRI A Z FHH
204 |% | B EZITE A2 AT A - F R
205 |k | F EZ A3 FETA A ZHH
206 [k | B F2Z (v ¥ A3 AT A FERM
207 |k | B FZ A4 ETR A - FHH
208 % | B g v A4 2R A - EIHH
209 |G @) 2 375K 535 A (1)(1 48 3 iK)

210 |(nid) > 3k EE (1) Y (AL 48 F 5R)

211 |(nid) > Frk #3E (1) Y 17B(1 48 5 %K)

212 | ) 2 37K 235 (1) 2k A (e 22 1 3 4K)

213 |(Gm @) 2 37w EE (L)Y FFAG I 1 F 5K)

214 |(m @) 2 37 25 (1) Y (¥B(4e 22 I F %K)

215 |Ge @) 23R ET XS H3Q)
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L ¥ o AL
216 |(in @) » FTREF A (W F R)

217 |G #3) 2 37 EF Q)Y FAE # T 4K)

218 |(n @) 2 37 £ ()Y (¥B(& 48 F )

219 [(n1#) 2 AT EFE () F A (Se i i FK)
220 [(7% ) 2 T4 E38 () ¥ (FAGsf] 1 3 K)
221 [(7 ) 2 ATEEE(QY (FB(ezif] i F )
222 |(in %) > ATEEF RF451(2)

223 |(on B) > F7R E3F 2 A (3) (1 4 F K)

224 |G 1) > 3T EF ()Y (FA(L B F iK)

225 | 3) > 3R EF Q)Y FB(E M FK)

226 |(n #) > 7o 25 ()R A ($r2ifi 1 F )
227 (% 18) 2 ¥R EFF @)Y (FACc ] 3 R)
228 |(i% i) > AR EE ()Y (FBCr i 3 %K)
229 |G i) 2 AR EE KB 451 (3)

230 |(on B) > F7R E2F A (4) (1 B8 3 K)

231 |G @) 2 3T EF(A) Y FA(R 8 3 4R)

232 |(n ) 2 3R EF(A)Y (FB(E W FK)

233 |(oh i) 2 379 EE (A) 3 A (e il 1 5 R)
234 (o @) 2 TR EF(A)Y IFAF L I FK)
235 |(in i) » AR EF @)Y (FBCr i 3 R)
236 |(if i) 2 AT EE R B 451 (4)

237 |(on 18) > 37K E3F 2 A (B) (1§ F K)

238 |(in @) > #7om EE(5) Y (FA(T B T K)
239 |(ni#) > ik E3E (B) Y 1FB(1: 48 F K)

240 (% 18) » ATREE (B) 3k A (Ge3if] 1 F K)
241 |G ) 2 37 EE(B) Y (FAG L 1 %K)
242 (% 18) 2 TR EFF(5) ¥ (FB(eirf] i 3 )
243 |(in B) > ATHEF K F 4551 (5)

244 |7 @) > 37HR E3E sk A (6) (& M 3 K)

245 |G 1) > 3T EE(6) Y (FA(T B F 4K)

246 (G B) > TR EF(6)Y (FB( M F K)

247 (i 8) 2 A7 E38 (6) ik A (e i1 1 3 )
248 |(in %) 2 ATREF ()Y I(FAC L it F R)
249 |(rB) > RTREF(6)Y (FB(Ar i i F AR
250 |(% i) 2 AT EE 5B 4751 (6)

251 (% 18) » 374 E3E 3 b (7)(2 A F %K)

252 |(in %) > RTREF ()Y AR BT )
253 |(in %) > AR EF(T) Y (FB(E 1 F %)
254 (i 18) 2 ATEEE F 8 451 (7)

255 (% 18) » 374 E3E 3+ (8)(Z M F %K)

256 |(n 1) > AT EF(8) Y (FA(L 4 F 1K)

257 |(in %) > AT EE(8) Y (FB(E 1 F 1K)
258 |(% i) 2 AT EHE H B 451 (8)
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7 & H LA LRES
259 |(imid) > FTHR B 3 A (9)(1 M 3 K)

260 |(Gm ) 2> 37 EF (9) Y (AR 3 R)

261 |(in @) > #7a EE(9)Y (FB(1 4 3 R)

262 |(iniB) > FTR EZ 5 E 4551 (9)

263 |(m i) 2 379 E3E 3 A (10)(1 48 3 K)

264 |(inid) » 374 3 (10) % (TA(E A F R)

265 |(inil) » 7ok 35 (10) % (FB( 48 F %)

266 |(nid) > FTREE K E 45 31(10)

267 |(: @) 2 3R EE A (11)(2 1 3 K)

268 |(n ) 2 AR EF (L)Y FA 3T R)

269 [(in @) > TR EGE (1) Y 1FB( # F 5K)

270 |(ir19) > AT B 0 F 4p 51 (11)

271 |(Gm () > #79k E35 2 A (12)(1 48 5 %)

272 | 1) > #7935 (12) ¥ (FA(T 88 F 5%)

273 |(Gni®) 2 3T EE(12)Y (FB(Z 4 F %K)

274 (‘Jﬁ@)gﬁ% R E I?{?#ﬁ 51(12)

275 | [ »774<] if E’¢(58);.4*£J“é %k~ £HCD LTSI A > ¥R L
276 | [ 237%]) =2 2 5(9-12) 58 4~ 3 £4HCD "EETREITEE G > R 5
N?@w@éww@Mﬁ % & (3 CD)(& # 3 %)
278 (e @)Evs # M-KLE 3 88 » (2 3 %)

279 |(on B )k s 2 F-K2H 3§ g A (7 CD)(& 48 5 %)
2%(w@@%%ﬁmﬁ%€%ﬂiW*®

281 |(nB)eEes % F]-K3H F g A (7 CD)(& 48 5 %)
282 |(inid)eEvs #FI-KSFEFHH AT HF R)

283 |(in ) rp 2 Fl-K145 5 g » (2 CD)(Ae i ff 1 F 4%)
284 |(inid)eEeg HH-KLE F 5 8 » (et  F K
285 (i B)eEep % B-K245 3 &g (7 CD)(Pesiff i F %)
286 |(inid)eErg HHF-K2F F 5B A (Aol ff v F K)
287 |(in B)eEep % F-K3F 3 &g & (5 CO)(Peeiff i F %)
288 |(ini)fp #H-K3FFH B A(esrff i+ 3 0R)

289 (= )2 & 535 % 2(K1) %A (5 4 #CD)

290 |(F = )2 & 53 % 2(K2) A (5 4 #CD)

291 |(F=x)2 E&EF % 2(K3) 34 (7 5 #CD)

292 |(Ex)2 #EF % 2(KYF tFr+ FA(7 5 #CD)

293 |(Ex)2 #&EF» (KL ¥ iF
204 |(F=x)2 wEE s aK2) ¥ iF

295 (E_ X ) 4 ,;_54 I 24 ;7(K3) W iE

296 ()2 eEiF RKYFHFAP ¥ IF

297 [(FE=)4 & #E % 2(KL) &5 151

298 [(FE=)4 & #E 2 2(K2) &5 1551

299 [(FE=)4 & &3 » 52(K3) &5 1551

300 |[(E=)4 i28EE 2 a(KA)F BF P &84
301 [(Bx)4 &) 3%A(7 5 #CD)
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i Rt LA T
302 [(FE=)4 =530 #%+(2 3 £CD)
303 [(F=)4 =5EF3F03)#%+(7 3 £CD)
304 |(FE=x)2 EE5@4) 3%+(5 35 #CD)
305 [(FE=)4 =53 0)%+~(2 3 £CD)
306 [(FE=)4 %5 (6)%4(2 3 £CD)
307 |(Ex)2 =57 #%+(5 5 #CD)
308 [(F=)4 =57 08)#%+(7 3 £CD)
309 [(FE=)4 =530 %4(2 3 £CD)
310 |(F=)4 s #:3(10) 3+ (5 3 #CD)
311 |(F=)3 E#EE(1) ¥ (FA
312 |(§F=)3 #EH(1) ¥ (7B
313 [(FE=)2 2 E5%(2) ¥ iFA
314 |(F=)3 #=EH(() ¥ (*B
315 |(FE=x)4 EEFQ) ¥ iFA
316 [(F=)2 =£%(3) ¥ i¥B
317 [(FE=)2 2 E54) ¥ iFA
318 |(F=)3 #EH%(4) ¥ (7B
319 [(F=)2 2E5%(5) ¥ iFA
320 [(F=)2 = E%((5) ¥ i¥B
321 [(F=)2 EE5(6) ¥ iFA
322 (=) EEF(6) ¥ 7B
323 |(E=)24 & E5(7) ¥ iFA
324 |(F=)2 2£%(7) ¥ ¥B
325 |(E=)4 & £3%(8) ¥ iFA
326 |(E=)2 & £3%(8) ¥ i¥B
327 ()2 & E3%(9) ¥ iFA
328 |(E=x)2 & E£3%(9) ¥ i*B
329 |(E=)2 #E£FF(10) ¥ iFA
330 |(E=)2 #EEFF(10) ¥ i*B
331 |(F=)2 & ¥ (1) E-PEN
332 |(F=)2 & ¥ (2) E-PEN
333 |(F =) & ¥ (3) E-PEN
334 |(¥ )4 i %37 (4) E-PEN
335 |(¥ )4 i %% (5) E-PEN
336 |(F=*)* i £5(6) E-PEN
337 |(¥ )4 i# #3%(7) E-PEN
338 |(F=)* i £5(8) E-PEN
339 |(F=)# i £ (9) E-PEN
340 |(F=)4 & £37(10) E-PEN
341 |(Cengage Learning)Go! Chinese 1 (3k#)
342 |(Cengage Learning)Go!Chinese Go 200/Go! Chinese 2 (3 )
343 |(Cengage Learning)Go! Chinese 3 (3k#)
344 |(Cengage Learning)Go!Chinese Go 400/Go! Chinese 4 (3% #)
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7 = it LA A
345 |(Cengage Learning)Go!Chinese Go 500/Go! Chinese 5 (3 #)
346 [(Cengage Learning)Go! Chinese 6 (3k#)

347 |(Cengage Learning)Go!Chinese Go 700/Go! Chinese 7 (3 #)
348 |(Cengage Learning)Go!Chinese Go 800/Go! Chinese 8 (3 #)
349 |[(Cengage Learning)Go! Chinese 1 (i} #)

350 [(Cengage Learning)Go!Chinese Go 200/Go! Chinese 2 ({& % #)
351 |[(Cengage Learning)Go! Chinese 3 (i} #)

352 |(Cengage Learning)Go!Chinese Go 400/Go! Chinese 4 ((& ¥ #)
353 [(Cengage Learning)Go!Chinese Go 500/Go! Chinese 5 ({& % #)
354 |(Cengage Learning)Go! Chinese 6 (& ¥ #)

355 |(Cengage Learning)Go!Chinese Go 700/Go! Chinese 7 ((& ¥ #)
356 |(Cengage Learning)Go!Chinese Go 800/Go! Chinese 8 (& % #)
357 (B #7) Hello,&=3! % - # A (28 F W)

358 |(B#7)Hello,&=:F! % - # RY ~(= M3 %)

359 |(B #F) Hello, #3E! % - P KfF £ p

360 |(&#7)Hello,&=:! % - # &* 7+ 2 (CD)

361 (B #7)Hello,&=3F! % - & FA(F 8 F W)

362 |(B#F)Hello,&=3! % - # RY ~(= 3 %)

363 |(B #F) Hello, #3E! % - p KfF £ p

364 |(% #F) Hello, #5! % = » &* 3 % (CD)

365 (B #7)Hello,Z=3F! % = & A (28 F W)

366 |(B#7)Hello,&=:F! % =P RY ~(2 #¥F %)

367 |(B #F) Hello, #3E! % = p KfF £ p

368 |(B#F)Hello,=:F! % =# &* 7+ 3 (CD)

369 |(& #F) Hello, #3E! % » # FM\(J_ 3 R)

370 [(B#F)Hello, 7! 5 v P Y 2(2 BT R)

371 |(& #7) Hello,Z=! % v & ?%EFF—{%'

372 |(# #) Hello, ! $ v ¢ %* §3 2 (CD)

373 |(& #F) Hello, #=3E! % 7 # FM\(J_ T )

374 (B #F) Hello, 233! % 7 & Ry *(& W F %)

375 |(& #F) Hello, #3E! % 7 # ?%EFF—{P

376 |(B#F)Hello,=:F! %7 # &* 7+ 3 (CD)

377 |(& #F) Hello, #3E! % = # Fﬁdr\(J_ T )

378 |(E #F) Hello,=3F! % = # Ry A(& ¥ F %)

379 |(& #F) Hello, #3E! % = # ?’IEW =

380 |(E #F) Hello,=3#! %=~ &* 2+ 3 (CD)

381 |(& #F) Hello, #3E! % = # Fﬁdr\(J_ T )

382 |(B #F) Hello,&3F! % - # Ry A(&x ¥ F %)

383 |(& #F) Hello, #3E! % = # ff’zéﬁi #

384 |(E #F) Hello,=3#! % - P &* 2+ 3 (CD)

385 |(& #F) Hello, #3E! % ~ Fﬁd\(J_ T )

386 |(#& #F) Hello, &35! % ~ P Y ~ (& W FK)

387 |(& #F) Hello, #3E! % ~ ?%EW*{P’
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7 =% ?’%’H “‘?ﬁ- [
388 (}?\= F:) Hello, &= ! 5 ~ p e T3 é’(CD)

389 |(% #F) Hello, &33! 5 4 f‘gcﬂx(L ELS

390 |(& #F) Hello,#32! % 4 & Ry A(& W5 K)

391 (E: $¥) HE“O,%;—?}' 54 p ?Igﬂ:i_}u

392 |(& #7) Hello, 3! %4 & %&* 23 % (CD)

393 |(2 #F) Hello, &35! % L p f‘g(ﬂx(J_ B w)

394 |(B #F) Hello, #32! % L P Ry A (& W53 K)

395 |(& #7) Hello,#=325! % - p ffﬂgﬂ?i.}u

396 |[(& #F) Hello,Z&3F! % L+ p %x* 33 2 (CD)

397 |(& #F) Hello, #3251 % + — p %ﬁcﬂ‘(i_ e

398 [(& #¥) Hello, 25! % L — P Y & (I %3 K)

399 |(% #F) Hello, & 5% L+ - p ;;,tg;pipu

400 |(% #%) Hello, 35! % L - p % * % 3 2 (CD)

401 |(% #F) Hello, &3z 5 L - p *ﬁ:ﬂ\(J_ e

402 |(B #%) Hello, 251 5 - - P % A (& 483 %K)

403 |(% #7) Hello,#=325! % + - p ff,(ga:igx

404 (}’i‘ﬁ) Hello, ﬁ,_-’I' L - fﬁ—’# 3 %’(CD)

405 (& )= = ¢ < (1)3# (3 CD)(F it 5 L 4 Aﬁ)
406 (2 )= = * ¢ (1) 7% 4 (3 CD)G it &M% 45)
407 | R)= X P 2 (D)&KEFL P (F 313 %)

408 |(& %)= = ¥ * ()3 (3 CD)(F #id 5 & 4% %)
409 (&%) % ¢ * ()i # (5 CD)J it & W% %)
410 (B R)= X P 2 (QKEFL P (F 313 %)

411 ({é ﬁ\);a ¢ (3) ﬁcﬂ\(z CD)(U \:’F"’—I—;;I hiE = ﬁ}’:)
412 | &)= 2 ¢+ (3)iF ¥ 4 (FCD)(F L3 & M F )
413 |(Fh)= % ¢ ~ Q)KL P (5 Fid 3 )

414 |(EA)" & ¢ 2 (D)dk (2 CD)(5 Fi15 & 4 F %)
415 |(#4)" & < (1)ir ¥ (3 CD)(F %15 & W F %)
416 |(fh)" & ¥ 2 (DFcpr £ # (5 3525 )

417 |(E &))" & ¢ 2 2k (2 CD)(5 Fi1 3 & F 4K
418 | K) &P ~ (2)iFF A (ZCD)(F Fits & HF x)
419 |(f k)" & ¢ 2 ek £ p (5 3FL 3 W)

420 |(# k)" # ¢ * (3 (5 CD)(F F a3 & W F K)
421 |( %) ¢ » (3)(v¥ & (5 CD)(d s#iL§ & W3 %)
422 |(Eh)"> & ¢ 2 Q)b E P (F3EF K)

423 |(: )" & ¥ 2 (4)3k+ (3 CD)(F it & 485 %)
424 |(: 1) & ¢ » (4) ¥ + (3 CD)(F 3F 15 2 M %)
425 |(B4)" &2 2 (A)Fchr £ # (5 FiL )




